AGREEMENT FOR SERVICES #756-PHD0508 AMENDMENT I

This Amendment I to that Agreement for Services #756-PHD0508, made and entered into by and between the County of El Dorado, a political subdivision of the State of California (hereinafter referred to as "County") and Marshall Medical Center, a non-profit general acute care hospital operating under the laws of California (hereinafter referred to as "Contractor"), whose principal place of business is 1100 Marshall Way, Placerville, CA 95667;

WITNESSETH

WHEREAS, the Department of Public Health has been reorganized and is now known as the Public Health Division of the Health Services Department; and

WHEREAS, Contractor has been engaged by County to collaborate in the provision of coordinated and effective medical care to victims of terrorism and other Public Health emergencies, in accordance with Agreement for Services #756-PHD0508, dated August 15, 2008, incorporated herein and made by reference a part hereof; and

WHEREAS, the parties hereto have mutually agreed to amend Article I – Scope of Services; and

WHEREAS, the parties hereto have mutually agreed to amend Article II – Term; and

WHEREAS, the parties hereto have mutually agreed to amend Article III – Compensation for Services; and

WHEREAS, the parties hereto have mutually agreed to amend Article X – Notice to Parties and Article XXI - Administrator of said Agreement; and

WHEREAS, the parties hereto have mutually agreed to add Exhibit B;

NOW THEREFORE, the parties do hereby agree that Agreement for Services #756-PHD0508 shall be amended a first time as follows:

- I. All references in the original agreement to the "County Public Health Department" or "PHD" shall be deemed to refer to the Public Health Division of the Health Services Department.
- II. Article I Scope of Services shall be amended in its entirety to read as follows::

ARTICLE I -

Scope Of Services: This funding is provided by a National Bioterrorism Hospital Preparedness Program Local Funding Agreement, and is intended to assist in preparedness for and response to bioterrorism, other outbreaks of infectious disease, and other public health threats and emergencies to deliver coordinated and effective care to victims of terrorism and other public health emergencies. Contractor agrees to use the funding provided by this Agreement to provide the training and purchase the items listed in Exhibit A and Exhibit B as allocated in Article III of this Agreement. All equipment and supplies purchased with these funds are to be made available for mutual aid, if such a request is made.

III. Article II - Term - shall be amended in its entirety to read as follows:

ARTICLE II

Term: This Agreement is effective August 15, 2008 and shall continue in effect until June 1, 2009 unless cancelled by either party per the stipulations of Articles VIII and IX herein.

IV. Article III – Compensation for Services – shall be amended in its entirety to read as follows:

Under the Hospital Preparedness Grant for fiscal year 2007-2008, County agrees to pay Contractor \$39,641.00 to provide the training and purchase the items listed in Exhibit A, attached to this Agreement and incorporated herein by reference. Under the Hospital Preparedness Grant for fiscal year 2008-2009, County agrees to pay Contractor \$31,696.00 to provide the training and purchase the equipment listed in Exhibit B, attached to this Agreement and incorporated herein by reference. County agrees to pay Contactor within forty-five (45) days of receipt and approval of an original invoice on Contractor's letterhead referencing this Agreement and the Hospital Preparedness Grant for the applicable fiscal year. Invoices for the total amount of \$31,696.00 for the training and items listed in Exhibit B must be submitted to the Contract Administrator no later than June 1, 2009.

The total not-to-exceed amount of this Agreement shall be \$71,337.00.

V. Article X – Notice to Parties – shall be amended in its entirety to read as follows:

ARTICLE X

Notice to Parties: All notices to be given by the parties hereto shall be in writing and served by depositing same in the United States Post Office, postage prepaid and return receipt requested.

Notices to County shall be in duplicate and addressed as follows:

EL DORADO COUNTY HEALTH SERVICES DEPARTMENT 931 SPRING STREET PLACERVILLE, CA 95667

ATTN: NEDA WEST, DIRECTOR

or to such other location as the County directs.

Notices to Contractor shall be addressed as follows:

MARSHALL MEDICAL CENTER 1100 MARSHALL WAY PLACERVILLE, CA 95667 ATTN: CONTRACTS

or to such other location as the Contractor directs.

VI. Article XX – Record Retention – shall be amended in its entirety to read as follows:

ARTICLE XX

Record Retention: Contractor agrees to maintain and preserve all records in any way relating to this Agreement for a minimum of three years after termination of this Agreement and the County's receipt of final payment under the Hospital Preparedness Grant from the California Department of Public Health (CDPH). Contractor also agrees to permit any CDPH representative or other representative duly authorized by law or pursuant to the Hospital Preparedness Grant to have access to, examine or audit any pertinent books, documents, papers and records related to this Agreement and to allow interviews of any of Contractor's employees who might reasonably have information related to such records.

VII. Article XXI – Administrator – shall be amended in its entirety to read as follows:

ARTICLE XXI

Administrator: The County Officer or employee with responsibility for administering this Agreement is Chris Weston, Health Services Department Public Health Preparedness Manager, or successor.

VIII. Exhibit B attached hereto shall be attached to the Agreement as Exhibit B and incorporated herein.

Except as herein amended, all other parts and sections of that Agreement #756-PHD0508 shall remain unchanged and in full force and effect.

RE(QUESTING DEPARTMENT HEAD CONCURREN	CE:		
Ву:	Neda West, Director, Health Services Department	Dated: 4-19-09		
Agre	WITNESS WHEREOF, the parties hereto have exement for Services #756-PHD0508 on the dates indicated to be the effective date of this Amendment.			
	COUNTY OF EL DO	RADO		
By:	Ron Briggs, Chairman Board of Supervisors "County"	Dated:		
	County	ATTEST: Suzanne Allen de Sanchez Clerk of the Board of Supervisors		
	By:	Date:		
	CONTRACTOI	₹		
By:	James Whipple, Chief Executive Officer Marshall Medical Center "Contractor"	Dated: 4/20/2009		
By:	Laurie Eldridge, Chief Financial Officer Marshall Medical Center "Contractor"	Dated: 4 21 200 9		

EXHIBIT B AMENDMENT I

FY 2008-09 HPP National Bioterrorism Hospital Preparedness Program Equipment/Supplies/Training Purchases

MARSHALL MEDICAL CENTER

Item	Quantity	Cost	Subtotal
Patient Privacy Screens	20	\$59.00	\$1,180.00
Predator PAS 1200 Air Scrubber	2	1,750.00	3,500.00
Filters for Predator PAS 1200 Air Scrubber	2	200.00	400.00
Air Purifier	3	800.00	2,400.00
Air Purifier Filters	2	180.00	360.00
Air Quality Monitor	1	1,899.00	1,899.00
1000 gallon clean water storage bladder	1	5,000.00	5,000.00
Access Control Systems	1	15,000.00	15,000.00
Scrub Jug Basic Mobile Hand Wash Station	10	85.00	850.00
Chart for HICS/NIMS	1	399.00	399.00
All Risk Wristband Triage Tags	2	69.00	138.00
Hospital Decontamination Kit	1	535.00	535.00
Triage Tag Instructor Package	1	35.00 _	35.00

Total Marshall Medical Center: \$31,696.00